
  

Guideline for the presentations

1) In the exercises, you have been working assuming the 
“base model”. Which are the 6 parameters of the LCDM 
model?

 2) What are the constraints on the parameters of the LCDM 
model obtained from your dataset? 

3) Which dataset better constrain the different parameters?

4) What are the differences between the constraints obtained 
from WMAP and from Planck data?

 5) Which parameters are further constraint by BAO data?

6) In which way the HST data modify the constraints? Why?
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